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$ 1033678000
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$ 87900
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$ 5007.7
$ 10566.9
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	[bookmark: _GoBack]Cash received from customers
	
	
	
	971800

	Operating Expenses
	
	
	
	-623200

	Income Tax Expense
	
	
	
	-40800

	Increase in payables
	
	
	
	-14200

	
	
	
	
	

	Net cash from operating Acts
	
	
	
	293600



image1.png
Question 20

Molino Inc. reported sales revenue of $2 million for 2020, Accounts receivable decreased $200,000 and accounts payable increased £300,000. Compute cash receipts from
customers, assuming that the receivable and payable transactions related to operations.

Cash receipts from customers ¢




image2.png
Brief Exercise 17-09

Hinck Corporation reported net cash provided by operating activities of $356,200, net cash used by investing activities of $148,900 (including cash spent for capital assets of
5208,000), and net cash provided by financing activities of $82,000. Dividends of $125,900 were paid.

Calculate free cash flow. (Enter negative amount using either a negative sign preceding the number e.g. -45 or parentheses e.g. (45).)

Free cash flow ¢
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Brief Exercise 17-12
‘Suppose Columbia Sportswear Company had accounts receivable of $205,024,000 at the beginning of  recent year, and $267,653,000 at year-end. Sales revenue was

$1,095,307,000 for the year.

What s the amount of cash receipts from customers?

Cash receipts from customers ¢
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Exercise 17-11

Macgregor Company completed its first year of operations on December 31, 2020. Its intial income statement showed that Macgregor had revenues of $150,300 and operating
expenses of £71,800. Accounts receivable and accounts payable at year-end were $69,000 and $30,600, respectively. Assume that sccounts payable related to operating
expenses. Ignore income taxes.

Compute net cash provided by operating activites using the direct method. (Show amounts that decrease cash flow with either a - sign e.g. -15,000 or in
parenthesis e.g. (15,000).)

et cash provided by operating activities ¢
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Exercise 17-12
‘Suppose a recent income statement for McDonald’s Corporation shows cost of goods sold $4,852.7 million and operating expenses (including depreciation expense of
51,201 million) £10,671.5 millon. The comparative balance sheet for the year shows that inventory increased $18.1 million, prepaid expenses increased $56.3 million,
accounts payable (merchandise suppliers) increased $136.5 million, and accrued expenses payable increased $160.9 million.

Using the direct method, compute (a) cash payments to suppliers and (b) cash payments for operating expenses. (Enter answers in millions to 1 decimal place, e.
527.5)

Cash payments to suppliers § million

Cash payments for operating expenses ¢ million
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Problem 17-06A
Zumbrunn Company’s income statement contained the following condensed information.

ZUMBRUNN COMPANY
Income Statement
For the Year Ended December 31, 2020
Service revenue 571,800
Operating expenses, excluding depreciation 623,200
Depreciation expense 54,400
Loss on disposal of plant assets 25,500 __ 703,100
Income before income taxes 268,700
Income tax expense 40,800
Netincome 227,900

Zumbrunn's balance sheets contained the comparative data at December 31, shown below.

2020 2019
Accounts receivable 574,100 559,900
Accounts payable 42,000 25,700
Income taxes payable 11,000 7,100

‘Accounts payable pertain to operating expenses.

Prepare the operating activities section of the statement of cash flows using the direct method. (Show amounts that decrease cash flow with either a - sign e.g.
~15,000 or in parenthesis e.g. (15,000).)

ZUMBRUNN COMPANY
Partial Statement of Cash Flows

Y| cash payments:




